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7OYTN M9 1s the classic example of a pn. 79010 NS said of NNYTXR 119 PN NPINT KON NNINN ININN
(Go:3n9np). ©pn have a particular nyn to them, that through being 0»pn them, we demonstrate
clearly our %1 to be o»pn the 7900 nw, whether or not we can understand it. It’s a type of nanx
272 MON NPRY

The o»nn X writes that (for this reason) the words ” /1 MY AWX NNN NPN NN (1A PIDD) are WD

that if we are o»pn this pn, it’s considered as if we fulfilled the entire » 'n My WX NN, DYP I
DNY 90NNNY N N8I DT OYLY Y ODINY..NTNAN NN DD OMPY WM NNODM MNIND NPTNN TN DYV XY MNHNN
7PN TITA MNHN

On the other hand, there is a certain nbyn to the mmsn that we do understand. The 7w nn 790
always tries to find logical explanations for the different nnsn. That’s because a mxn done
with man and N> is more meaningful. In addition to our qw, our Y5v is also participating in
the mxn (ornn).

I would like to suggest that the nnyTx 19, actually had both mbyn. For Yxaw 5595, and even the
0”»n>5 making the nxvn 'n from the NMYTN M9, it was a pn. But to 1027 nwn, 'n did reveal the reason
behind it. As it says in N27 wITH (1: V) NI TN YITPNIZ PN NININ 72509 7 IX -NMTN 779 TON INPN
PN INNY HAN,I9 DYV NYIN NN T NWNY.

MY says 12T NN WYY NI TRV DY NRIPY NN 09D -7ONINPN.  The Y77nn explains that although
121 nwn didn’t physically make the nmTx 19, but since (it was carried out under the auspices of
his 7 m2 and) he knew its ©nyv it is MW Sy NXIP).

We can guess that maybe one reason why 'n revealed the o»yv of NI M9 to 121 Nwn was in
order to impart to nmTN 119 the Noyn of a Mxn with a oyv, as well. While the n1s nwyn was carried
out, w21 nwn instilled in it the deep n>o that 'n had taught him.
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